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ANSWER KEY 

1. a) ∠𝐴 =  46° 

b) tan 44  =
𝐴𝐵

𝐵𝐶
 

tan 44 =
𝐴𝐵

𝐵𝐶
 

tan 46 =
𝐵𝐶

𝐴𝐵
 

tan 44 × tan 46 =
𝐴𝐵

𝐵𝑐
×

𝐵𝐶

𝐴𝐵
= 1 

2. a) ∠𝐶 = 180 −  70 + 55 = 55° 

b) 𝐴𝐶 = 6 𝑐𝑚  

a) Area = 
1

2
× 6 × 6 sin 70 

= 3 × 6 × 0.93 = 𝟏𝟔. 𝟕𝟒 𝒄𝒎𝟐 

3. a) 𝑥 + 𝑦 = 90° 

b) sin 𝑥 =
𝐴𝐵

𝐴𝐶
 

cos 𝑦 =
𝐴𝐵

𝐴𝐶
 

∴ 𝑠𝑖𝑛𝑥 = cos 𝑦 

c) sin 45 = cos 45 

𝒙 = 𝟒𝟓° 
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4.  

 

a) ∠𝐴 = 60° 

b) 2 3 

𝐴𝑟𝑒𝑎 = 𝑏𝑕 = 8 × 2 3 

= 16 3 cm2 

5.  

 

a) ∆𝐴𝐵𝐶 

tan 60 =
𝐵𝐶

𝐴𝐵
 

𝐵𝐶 = 𝐴𝐵 × 𝑡𝑎𝑛60 

= 40 × 1.732 = 𝟔𝟗. 𝟐𝟖 𝒎 

∴ 𝑕𝑒𝑖𝑔𝑕𝑡 𝑜𝑓 𝑕𝑖𝑙𝑙 = 69.28 + 1.75 = 𝟕𝟏.𝟎𝟖 𝒎 

 

∆ 𝐷𝐶𝐸 

tan 50 =
𝐶𝐸

40
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𝐶𝐸 = 40 × tan 50 = 40 × 1.19 = 47.67 

∴ 𝑕𝑒𝑖𝑔𝑕𝑡 𝑜𝑓 𝑡𝑕𝑒 𝑡𝑜𝑤𝑒𝑟 = 71.03 − 47.67 + 1.75 = 𝟐𝟏. 𝟔𝟏 𝒎

 

6. 2𝑅 = 𝑎/sin⁡(180 − 𝐴) 

8

sin 40
=

8

0.64
=

25

2
= 12.5 m

𝒓𝒂𝒅𝒊𝒖𝒔 = 𝟔.𝟐𝟓


